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NOTE TO TEACHERS.

Ta1s book is intended for the use of pupils of the first or
second school year and is designed to accompany and follow
teaching by objects. The illustrations are intended to give
a graphic and orderly representation of what has been taught
and to serve as models for the pupils in the solution of
problems. They also indicate the kind of drawings which
pupils may make at their seats upon slate or paper.

While the book is designed to embrace a year’s work, some
pupils and classes may be able to do in less time all that is
needed to Be done in the development and applications of
numbers to twenty. It is believed that the number and
variety of problems are so great as to avoid the necessity of
giving many exercises for drill on the black board. Teachers
may find it well to select exercises that their pupils most
need. v

The exercises are numbered without reference to what
may be needed for a lesson. They are given as a guide in
assigning lessons and in hearing recitations.

For methods of teaching and of using this book, see
Teachers’ Manual which is designed to accompany all books
of the series. '



SECTION L

NUMBERS FROM 1 T® 1§

EXERCISE 1.

..m.A.Z.L
R | I

NN NN
+ X 1

NN HH -

=
lqula;g‘r
| I |

M = MM
++ |

o r H H H

~H

. <
MY N - O
md o

e o WA
++ 1

=~ N MM




EXERCISE 2. ) 8
Copy and complete :
3WW¢//7M@M&5—W
3WW W%’/W

2 o
JW&QWW—%W%
7+4=2 F—s=2 2+8=72
g—2=4 g—2 =7 5g—2=2

3+ 2= S+4=2 S+2=7



EXERCISE 3.

5+1=l 4+2= (f
1+5_~ 2+4=

6+1€7 5+2="KA+3=" 2+2+2+1-8%
1+6=G 2+5—:§;+4— v 2x3+1= g/
T—1=nf1-2=3¥7-3=27_9_ 2 2 )
T—6=7f1-5=uf—4=" 2=

16— 1{T+5= " f1 4=



EXERCISE 4. 5

Copy and complete :
547%44'«1442(7%%&4%—7%;%&/.
BWW(?WW—WM
2W3Wm—f7ﬂm.
é%ﬁwm—w ’
QWM M/QWW/QW
W—W 2x 8=/
Q%MM/JJ ate — vad
4WM77%W—WM/_
z%%mw&. Jey=2
ox2=6 S+ 4="2 7 8=2

b+ 2=2 J—38=2 e 2=2



EXERCISE 6.

+1= 6+2= 5+3= 4+4=

1+7=  2+6= 3+5= 4x2=
8—1= 8-2= 8—-3= 8—4=
 8—T7= '8-6= 8—5= 8+4=
8+7= 8+6= 8+5= ;0f8=
3+3+2= 2+2+2+2=
3x24+2= 2x4=
8-3-3= 8—-2-2-2-2=
8-+3= 8+2=
10f8=

5 squares and 3 squares are — squares.



EXERCISE 6. A "

Copy and-complete:

JWW_W%yw.
J’WW—-W%4W
) J7mm—m%ﬂz2 W
# sguies cnd — gt ase § gunics
'éWW—WmJW.
J7W%2WW—W.
djwéa—wmd‘w.
é%ﬂwé—7m.

b o 8 speatas i — agunies

_ 4/WQWW.—W
Qwacﬂwm—m.
3'W'm S sguics — dismas and —

%Mm. f+8=2



EXERCISE 7.

8+1=

7T+2= 6+3= 5+

1+8= 247= 3+6= 4+5=
9-1= 9-2= 9-3= 9—-4=
9—-8= 9-7= 9-6= 9-—
9+-8= 9+7= 9+6= 9=+
9—-4-—
9+
3+3+3= 24+2+2+2+1=
3x3= 2x4+1=
9-3-3-3= 9-2-2-2-2=
9+-3= 9+2=



EXERCISE 8. 9

Copy and complete:

yW%QWW_7W
y%mm W%md'a
347%4/&&4%—%4%%?7%%%
yW 4WW W
3W3WW—W.
meyw—mm/~
owet. g+2=7

G vrer.  gro=2
4mew_mm/_

%m. gry=2



10

BXERCISHEH 8.

10

9+1= 8+42= 7+3= 6+4=
10-1= 10-2= 10-3= 10—-4=
10-9= 10-8= 10-7= 10—-6=
10+-9= 10+-8= 10+-7= 10+6=
5+5=  4+4+2= 3+3+3+1=
5x2=  4x2+4+2= 3x3+1=
10—-5="10-4—-4= 10—8-3-3=
10+ 5= 10+4= 10+-3=

-



EXERCISE 10. 1

Copy and complete :

‘7WMW-—WW/0WA
JWW—WW/ﬂw
/047»%14&44437%%’—7%%
/ﬂwédéwm -W.
/ﬂWéddjW%m—W
waQWW_W
f//ﬂwa—w.
5%/0wa'—w.
me/ﬂw—m.
JWmMW—W.
3mew_mml—

%M%. JO+ 8= 2



12

6+3=

EXERCISE 11.

b.
g=7=
4—7=

24 4=
5+ 4=
b+4=
8+4=

C.

H+ 7=
6—7=
4=
7+ 7=

g-

2+8=

6+8=
4+ 8=
7+38=

k.
10— 4=

7-.:
y— =



a.
St o=

8+5=
/+5=
2+5=

S+5=

§—6=
6—6=
7-6=
10—6=

i $=p+7, 5+8,

g g=d+7, 2 ,

k. 70=

2 -

/

EXERCISE 12.

4+ 0=
g—b=

/

2 -

C.

8+5=
7=0=
10— =

2+ 5=

Y+5=

g-
2+ 7=

8+ 7=

13



14

4+ 8=
24+6=
4+8=
6+2=

247/=
8+ 2=
g+7=
S+7/=

S+5=
SHo=
J+2=
b+7=

. BXERCISE 13.

b.
J+2=

S+5=
4+6=
S+ 8=

S
24 8=

/+6=
244=
/4 g=
j
/+g=
S+ 7=
7+ 8=
b+4=

C.

/+P=
2+5=
4+ 2=
5+ 2=

g.
P+2=

8+4=
2+ 5=
8+ 8=

k.
4+6=

8+ 7=
2+ 4=
4+ 8=

S+o=
2+ 9=
8+ 8=

4+ 4=

4+ 8=
8+2=
6+ 2=

4+5=

24 7=
2+ 9=
Y+5=

S+y=



EXERCISE 14.

b.
b—4=
Fy=



EXERCISE 16.

16

Copy and add:
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EXERCISE 16. 17

Y Lok and — Looks ase ) Locks,
b onts and — conts ase 9 conts
G slolls and — slols are & sbates.
2 WW—WW&%M&
Q/M//Mﬂ/——/ﬂk/mdj/%// —

/G- s by

loss — 1als we

cﬁ%méd_/mmg@.

Lof 2is — zof 4is —

Two.

By squares show: |

1of 6= 1of 8 = 1of 10 =
Lof 6= 1of8



18 ‘ EXERCISE 17.

Copy and complete:

2 Al ard 8 LY wre — LY

4 pidwnd s pid e —gid
§ 1allets and 2 1atdol wie — adl%.

b snaistlis and' 2 sraidls ase — maid?s

S Artloris toss 3 Kstbhores wie — Hotlirs,
b Lol tas 8 Lodll wse — Lokl

7 Lok Lo 3 Lokl are — Lok
4%442/%474&*/% -
5@4«444%/4%—/74



Mary had four cents, and her mother gave her
Then she had — cents.

If I have eight apples, and give away three of
them, I shall have — left.

A man had six horses, and sold one third of

five more.

EXERCISE 18.

them. He had — horses left.

Tell stories, with these numbers, about:

hens
3+4

frogs
3+17

boys
9+1

nests

6—-4

foxes
6—1

rats
6+3

cups
8+2

cats
6+2

COWS
6+4

girls
T+2

books
7—3

hats
5—4

flowers
10—-7

chains
1
3 of 4:

dogs
4+2

roebins
1+3

rabbits
4-3

pens

5-2

nuts
6—5

boxes
5+4

bags
1of8

birds
5+1

eggs
2+6

horses
7—5

ducks
8—4

trees
8-3

slates
9-17

dolls
zof9



20 EXERCISE 19. -

NEEEY e

Ex 2= 2X3+7=
b+ 8=
ARREEN 2 e b
Copy and show by lines:
a. b. | e
2 X 2= X § == 0=8%x3+ 2
2x 8= 4x 2= | O=4x2+ 2
2 X 4= X /= 10=0%x1+ 2
2x &= Fx2= J0=Fx 1+ 2
d

o@%M Hose ato— 2's W—%ﬂ/&%.
e severs Lbore ate — 8 s and— %M%.
Ay 7%%44 wte — 84 and — //m
Cﬁzn%wégwaw—mgdﬁmﬂ—é%aw&




BXERCISE 20. 21

a. . b c.

Sx 2= SX 24+ 2= 10+ 2=

4% 2= 4x 2+ 2= &+ 2=
EX 8= EX 3+ 7= 6+ 2=
d.. ¢ f g
§/6= g+8=  Sx8= J—y=
g/od= §+2= F+8= s0—5=

S %m_g’aw—%m.
ofnm%mm_z’dm/_%m.
o@mm%wm—z’dm/_%m.
Sy lons %Wm_.%;m/—%m.



a. b.
6+1= 4+3=
3+4= 8-56=
T+2= 24+ 7=
8—3= 8+4=

e .
T—4= 3+6=
8+2= 2x565=
2’s in 8= 2’s in 8=
6x1= 5—4=

BXERCISE 21.

e - d.
5+4= 8—-2=
6—4= 6—-5=
2’8 in 6= T—1=
6+-2= 10—4=

g .
10 -5= T+3=
T+1= 10-2=
1+7= 8—3=
4+6= 4x2=

i. In 4 there are — twos. .
Jj- In 5 there are — twos and — remainder.
k. In the same way tell how many 2’s in 6,

5; 7; 9; 10.
[. How many 3’s in 4?
m. How many 4’s in 5?

Add at sight:

4 5 1 6
r 1 1 1
6 5 8 T
z 2z 2 2
2 1 3 5
t 4 4 4

Y

in 67 in 8? in 9? in 107
in 87 in 67 in 9?7 in 10?

9 3 4 7
1r 2 2 2
2 3 5
3 3 3
4 6 1
4 4 5

l



Add at sight:

|oo<;n |..pw .wl-h

I~ o

6
4

ll\')\l IN)CD

| v

leo ~

EXERCISE 22.

oo low |~

o

Subtract at sight:

love |- o

leo

lo S

5
3

jlov |o

lN@

6
2

| e

| o

lo &

| e =3

ER

|~ o

leo

|mw

lov oo lweo

| S

loven low oo

PR

|t |on= oo

Iro o

o o o

I o

|~ oo

o
= o

s oo |

| o

I~ 2

28

Il v lew o o en

|no en

!OOCQ

IOiCQ

lo o

-
w o



24 EXERCISE 28.

a. Eight apples and two apples are — apples.

b. Seven men and three men are — men.

c. Nine cents less four cents are — cents.

d. Ten dollars less seven dollars are — dollars.

e. Four girls and six girls are — girls.

/- Nine pounds of tea less seven pounds are
— pounds.

g. Five times two cents are — cents.

h. Three times three quarts of milk are —
quarts.

. One fourth of eight apples is —apples.
J- One third of six books is — books.
k. Nine boys are — more than two boys.
[. Ten cents are — more than one cent.
m. Four oranges are — times two oranges.
n. Six trees are — times two trees.
o. Eight books are — times four books.
p- Three apples will cost — times as much as
one apple.
g. Four apples will cost — times as much as
two apples.
r. Ten apples will cost — times as much as
five apples.

s. There are — times three cents in six cents.
t. There are — times two cents in eight cents.
u. There are — times four cents in eight cents.




EXERCISE 24. 26

@. John had two cents, and his mother gave
him five more. He then had two cents and five
cents. Two cents and five cents are — cents.

b. William had eight cents, and spent four
cents. He then had eight cents less four cents.
Eight cents less four cents are — cents.

c¢. Mary bought an orange for two cents, an
apple for one cent, and a book for four cents.
She spent two cents and one cent and four
cents. Two cents and one cent and four cents
are — cents.

d. John is ten years old. His little sister is
three years old. John is — years older than
his sister.

e. There are four trees on one side of the yard,
and six trees on the other side. In the whole
yard there are four trees and six trees. Four

trees and six trees are — trees.
/- I had ten little chickens, and two of them
died. There were left — chickens.

g- If a coat costs nine dollars and a pair of
shoes costs two dollars, the coat costs — more
dollars than the shoes.

h. Harry had nine apples, and gave away one
third of them. He gave away — apples, and
had — apples left.



. 26 EXERCISE 26.

(oo} OO0 OO

a. If one pencil costs two cents, two pencils
will cost two times two cents. Two times two
cents are — cents.

00O OO0 OO0 OOO

] 0 o O

b. If one blank-book costs three cents, three
blank-books will cost three times three cents.
Three times three cents are — cents.

c. I buy at the store four apples. One apple
costs two cents; four apples cost four times two
cents. Four times two cents are — cents.

d. Eight sticks of candy at one cent a stick
will cost — cents.

e. Three sticks of candy at two cents a stick
will cost — cents. ‘

J- Two pencils at three cents apiece will cost
— cents.

g- A cow has four legs; two cows have two
times four legs. Two times four legs are —
legs.

h. A dog has two ears; four dogs have four
times two ears. Four times two ears are — ears.




EXERCISE 26. -27

a. A spider has four pairs of legs. Four pairs
of legs are four times two legs, or — legs.
b. A grasshopper has three pairs of legs.

Three pairs of legs are — legs.

c. A spider has — legs. A grasshopper has
— legs. A spider has — more legs than a
grasshopper.

d. A bee has four wings. Two bees have —
wings.

e. Three spools of thread cost nine cents. One
spool will cost one third of nine cents. One third
of nine cents is — cents.

J- If Mary has four dolls, and gives two of
them away, what part of them does she give
away ?

g. Harry has three doves, and George has
twice as many. How many has George?

h. What number is one half of ten? one half
of eight ? one half of six ?

7. Alice bought an orange for three cents, and
gome nuts for two cents, and gave the store-
keeper ten cents. How much did she receive
back ?

J- A bee has six legs and four wings. It has
— pairs of legs and — pairs of wings. A spider
‘has — more legs than a bee.



EXERCISE 27.

28

Add

NN N

504._

34.2_

251_

313_

324._

© N

4_23_
280_
253_
303_
270_

314__

H Oy

o0 =i

H

N=l~e

oM M

N N

10 <H

L B

@
N
2|
N
]
|

=

RCE Rl

522_

271_

145_

342_

34._3_

4.32_

NNt

EXERCISE 28.

Tell a story about each of the following ex-

amples:

o
H m N W © W

X X X8BEBEB
Ay 0N LD ~A i W
Sind S R[S

4+3
b. 10—6
5+5
d 8+2
e. 9—4
Jfo 3+2+4

a.
C.



SECTION IL

NUMBERS FROM 1 TO 13.

EXERCISE 1.

— ]
— — — —] —
—l ‘
10+ 1=  9+2= 8+3= T+4= 6+5=
1+10= 2+9= 3+8= 4+7= 5+6=
11-10= 11-9= 11 8= 11--7= 11-6=
"11+10= 11+9= 11+8= 11+7= 11+6=
j

5+5+1= 4+4+3=
5x2+1= 4%x2+3=
11-5-5= 11-4-4-

11+5= 11+4=

8+3+3+2= 2+2+2+2+2+1=

3x3+2=

2x5+1=

11-3-3-3= 11-2-2-2-2-2=

11+3=

11+2=

8 squares and 3 squares are — squares.
‘1 squares and — squares are 11 squares.

29



30

10 and — are )
9 and — are
8 and — are
7 and — arc
6 and — arej

7 and — are )
4 and — are
8 and — are
3 and — are J

8 and — are )
6 and — are
10 and — are
7 and — are
5 and — arej

10 and — are ]
6 and — are
4 and — are
9 and — are

EXERCISE 2.

>11

11

11

3 and — are |

5 and — are )
4 and — are
3 and — are
2 and — are
1 and — are J

9 and — are
2 and — are
6 and — are
5 and — are |

9 and — are )
3 and — are
1 and — are
4 and — are
2 and — are ]

1 and — are )
5 and — are
7 and — are
2 and — are
8 and — are J

— fives and — are
— fours and — are

— threes and — are

11

— twos and — are

>11

11

——

11

11




EXERCISE 3. 31

a. b.
4+3= 6+3=
8+2= 4+4=
7T+3— T+4=
9+2= 8+3=
5+3= 6+4=

e. )
5+5= 8+3=
1+4= 6+3=
6+5= 8—-5=
10-5= 4+5=
9-56= 11-5=

) J-

2+8= 4x2+7=11
3+7= 3x3+7=11
3+8= 5x2+7=11
10-8= 6x1+7=11
11-8= 2x5+?=11

L. m.
24+9= Tx1+?=11
11-9= 9x1+?=11
11-7= 8x1+?=11
11-6= 10x1+?=11
11-4= 1x11+7=11

c. d.
10-1= 11-2=
11-1= 9-3=
9-2= 11-3=
8—-3= 10—-4=
10—-2= 11-4=

g- h.
1+6= 11-6=
3+6= 2+7=
5+6= 4+7=
8—6= 9-T7=
10-6= 11-7=

k

2 fours and 3 =11
3 threes and —=11

— twos and —=11
— fives and —=11
—ones and —=11
n.
— eight and —=11
— §ix and —=11
— nine and —=11
— seven and —=11

— ten and — =11



EXERCISE 4.

32
a. b. c. d.
4x2+1= T™x1+3= 11+4= 11+ 7=
3x3+2= 9x1+2= 11+3= 11+ 9=
5x2+1= 10x1+1= 11+5= 11+10=
8x1+3= 2x5+1= 11+8= 11+ 1=
6x1+4= 4x2+2= 11+-6= 11+ 2=
e. S g. h.
44+6= 11-4= lof 4= sof 9=
5+3= 6+3= lof 8= lof 6=
7T+2= 9+4= 1of 10= lof 4=
10—-8= 7T+5= lof 9= 1of 6=
10-6= 11-8= 1of 8= 1of 8=
10-6-+ 11+-8= 2 of 10= Lof 10=
% J-
2 threes and — are 8 S5twos +1 =11

3 threes and — are 11 — threes +—=11 -

4 twos and — are 9 — fours +—=11
2 fours and — are 10 — fives +—=11
5 twos and — are 11 — SsixX +—=11
1six and — are 11 — seven +—=11
— fives and — are — — eight +—=11
— nine and — are — — nine +—=11
— twos and — are 7 —ten. +—=11
— eight and — are — — eleven +—=11




EXERCISE 6. a8

[ _
| H | ]
: |
10+ 2= 9+3= 8+4= T+5= 6+6=
2+10=  3+9= 4+8= 5+7= 6x2=
12-10= 12-9= 12-8= 12-7= 12-6-6=
12+10= 12+9= 12+8= 12+7= 12+6=
5+5+2= 4+4+4= 3+3+3+3= 2+2+2+2+2+2=
5x2+2= 4x3= 3x4= 2x6=
12-5-5= 12-4-4-4= 12-3-3-3-8= 12-2-2-2-2-2-2=
12+5= 12+4= 12+ 3= 12+2=
12=10+7? ?2sin 127 3+ of 12 =
12= 8+7? ?6’sin 127 s of12=
12= 547 ?4s1in 12? 2 of 12 =
12= 7+7? ?3sin 12?7 L of 12 =
12= 447 ? Tsin 12?7 2 of 12 =
12= 2+7? ?8sin 127 15 of 12 =

12= 3+7? ?9sin 127 1z of 12 =



Q.

11+—=12
10+ —=12
9+ =12
8+_—=12
T+—=12

d.
8+—=12
44 =12
9+ =12
3+—=12
6+—=12

y.

12—-1=
12-2=
12-3=
12—4=
12-5=

k.
T+7=12
12-7= 4
4+7=12
12—-?= 2

12-7= 9

EXERCISE 6.
b.
6+ —=12
5+ =12
4+ =12
3+ =12
2+ =12
€.
11+-—=12
1+—=12
T+=12
5+—=12
24+ =12
ke i
12— 6=
12— 7=
12— 8=
12— 9=
12-10=
L
3+?7=12
12-7= 1
12-?= 8
6+7=12
3+7=12

12-9=
12-6=
12-3=
12-1=
12-7=

C.

T+_=12
8+— =12
9+ =12
10+—=12
11+—=12
S
8+ =12
5+ =12
3+ —=12
2+ =12
T+—=12
J.
12— 5=
12— 2=
12— 4=
12— 8=
12-10=
m.
12-?= 4
5+27=12
9+7=12
12-6= ?
12-?7= 8




a.
54+6=
8+4=
11-7=
12-8=
12—-6=

e.
5+7=
8+4=
6+3=
12—9=
12—-5=

How
. How
How
. How
How
/- How

O R

o

EXERCISE 7.

b. c.
6x2=  5twos +1=
2x6=  3twos +1=
I3x3= 2 threes+2 =
2x5= 2 fours +3=
3x4= 3 threes+2=

S g- |
2x4= 4 threes+0="
5x1=  2fives +2=
3x2= 3 threes+2=
4x2= 1eight +4=

10x1= 3 fours +0=
EXERCISE 8.

many twos in 7?7 87 97

many threes in 7? 97 8?

many fours in 77 97 87

many fives
many sixes

in 77 9?7 87
in 87 7?7 97
many sevens in 8? 7?7 9?

36

d.
sof 6=
of 8=
of 9=
of 12=
of 12=

h.
of 12=
of 6=
of 10==
of 7=

Bl @l (Ol o=

= Ol Ol Pl

Lof 11=

127 117
12?7 117
127 112
12? 117
12?7 117

10?7 127 117

g- 8=2x4 =4x2 =3x24+2 =4+4+4 =543
=345, etc.

In the same way:

h. 5=
1. 6=

g 1=
k. 9=

l. 11=
m. 12=



36 EXERCISE 9.

Copy and add :

a b c¢ d e f g ki 4
3 5§ 3 4 5 8 1 565 6 4
4 2 6 6 4 2 8 b5 3 2
4 5 3 2 2 0 2 2 2 6
k. . m =n o p. ¢ r s L.
2 3 4 3 4 5 5 6 1T 7
T 6 3 4 5 b6 4 3 5 4
1 2 3 5 2 2 1 3 0 0

EXERCISE 10.
Write with proper signs:

a. From 12 take 3; 4; 7; 6; 8; 9; 10; 5; 11.

b. From 11 take 5; 4; 3; 7; 6; 10; 8; 9; 2.

¢. How many are 4 twos and one? 2 fives and
two? 3 threes and two? 6 twos and nothing?
2 fours and three? 2 sixes?

d. How many 2’s in 5? 3’s in 7? 4’s in 9?
5s in 11?7 6’s in 12?7 7s in 10? 8's in 117
9s in 12?7 10’s in 127

e. Subtract by twos from 12 to 0.

J. Subtract by threes from 12 to 0.

g- Subtract by fours from 12 to 0.

h. Subtract by fives from 12 to 2.

1. Subtract by sixes from 12 to 0.




> 8

. Nine *
Seven
Two
Six
Twelve
Eleven

»
»
»
»
»
Five ]

SR we 8o

00O

11

.

EXERCISE 11.

and three
and four
and ten
and five
less six
less nine
and seven

00O 00O

[T 1]

*

* % % %X % *x

are —
are —
are —
are —
are —
are —
are —

00O

]

000

11

cost — dollars.
Show by pictures:
Jj- How much five pencils will cost at two cents

apiece.

*

* 2 & & & &

37

Eight apples and three apples are — apples.

If one hat costs three dollars, four hats will

k. How much three books will cost at three cents

apiece.

[. How much two little flags will cost at six

cents apiece.
. How much three rulers will cost at four cents

apiece.

n. How many shoes in four pairs.
o. How many horns six cows have.

-

How many legs three horses have.

* Word to be supplied by pupil.



38 BXERCISE 12.

a. Four robins and seven sparrows are — *

b. Six pinks and five roses are — *

c. Nine boys and three girls are — *

d. Twelve bags of flour less nine bags of flour
are — bags.

e. Ten pints of berries less six pints of berries
are — pints. .

/- Eight quarts of milk less five quarts of milk
are — quarts. ‘

g. Nine pounds of sugar less two pounds of
sugar are — pounds.

h. Henry has twelve pencils, and Mary seven.
Henry has — more pencils than Mary.

7. Joseph earned five cents on Monday and
twice as many on Tuesday. On Tuesday he
earned — cents.

J- A boy bought six marbles at one store, and
twice as many at another. He bought — marbles
at the second store.

k. Mary has ten dolls, and Ellen has SIX. Mary
has — more dolls than Ellen.

l. A bee has four wings, and a fly has one-half
as many wings as a bee. A fly has — wings.

m. A butterfly has as many wings as a bee.
A butterfly, a bee, and a fly have — wings.

* Word to be supplied by pupils.



EXERCISE 13. - 39

Twelve things = one dozen.

a. Ldoz.=? b. 1 doz.=? c. ;doz.=?

d. How many separate squares can you make
with a dozen sticks?

e. A boy gave a dozen apples equally to three
friends. How many apples did each one have?

/- 1f 4 apples are put on each plate, how many
plates will it take to hold a dozen?

g. Make a dozen marks. Cross half of them.
How many marks are left not crossed ?

h. Make a dozen marks. Cross 1 of them.
How many marks are left not crossed ?

7. One dozen peaches less four peaches are
— peaches.

J- One half dozen eggs and 2 eggs are — eggs.

k. A dozen children are playing ball. If 8 of
them are boys, there are — girls. _

l. 3 doz. eggs at 2 cents apiece will cost —
cents.

m. § of a dozen oranges at 3 cents apiece will
cost how much? ! of a dozen oranges is —
oranges. If 1 orange costs 3 cents, — oranges
will cost — times 3 cents. — times 3 cents are
— cents.



40 EXERCISE 14.

Show the following by squares or blocks, as in
Exercises 1 and 5:

a. b c. d.

10+ 3= 9+4= 8+5= 7T+6=
3+10= 449= 5+8= 6+7=
10x1+3= 9x1+4= 8x1+5= Tx1+6=
13—-10= 13—-9= 13—-8= 13-7=
13+10= 13+9= 13+8= 13+7=
e. / g
6+6+1= 5+5+3= 44+4+4+4+1=
6x2+1= 5x2+3= 4x3+1=
13—-6—-6= 13-5-5= 13—4—-4—-4=
13+-6= 13+-5= : 13+-4=
h. 7.
3+3+3+3+1= 24+24+24+24+24+2+1=
3x4= 2x6+1=
13-3-3-3-3= 13-2-2-2-2-2-2=
13+3= 13+2=
J- k. l.
13= 9+7? ? §sin 137 13+ 6=
13= 647 ? 4sin 137 13+-10=
13= 8+7? ? 3’sin 137 13+ 9=

13= 7+7? ? 2sin 137 13+ 7=




EXERCISE 16. 4]

a. b. e
1+7=13 T+7=13 3+?7=13
24+?7=13 8+?=13 6+7=13
3+?7=13 94?7=13 94+?7=13
44+?7=13 10+?7=13 T+7=13
5+?7=13 11+?=13 4+7=13
64+?7=13 12+7=13 5+7=13

d. e. yA
1+ ?7=12 12+-6= 7? 13-7T= 7?
12—-7= 2 5x 7=10 12—-7=10
3x3= 17 3+8= 7 4+8= 7
?7+4=10 4x 7=12 ?7+6=13
?7x5=10 1—9= 3 7—2=11

g h

3 threes and 2=7?
2 sixes and 1=?
6 twos. and 1=7
4 threes and 1=7?
1 seven and 4="7

5 twos and 1="?
3 fours and 1=7?
2 fives and 3="7?
2 fours and 3="?
5 twos and 2="?

7.

In 13 there are — twos and — over.

In 13 there are — threes and — over.

In 13 there are — fours and — over.

In 13 there are — fives and — over.

In 13 there are — sixes and — over.



42 EXERCISE 16.

a.
How many are
12 boys and 1 boy?
4 whips and 5 whips?
2 nuts and 10 nuts?

5 lemons and 6 lemons?

c.
13 is — more than 11.
13 is — more than 10.
13 is — more than 9.
13 is — more than 8.
13 is — more than 7.

e.
12 are how many 2’s?
13 are how many 3’s?
10 are how many 5’s?
9 are how many 3’s?
6 are how many 2’s?

b.
How many are
4 chairs and 7 chairs?
8 lamps and 4 lamps?
2 balls and 6 balls?
9 birds and 2 birds?

d .
13 is — more than 6.
13 is — more than 5.
13 is — more than 4.
13 is — more than 3.
13 is — more than 2.

11 are how many 5's?
12 are how many 6’s?
13 are how many 2’s?

4 are how many 3’s?
10 are how many 2's?

g. How many must you put with 3 to make
13? with 5? with 7? with 10? with 8? with 67
with 97 with 12? with 2? with 47?

k. Add:
4 2 8 4
5 11 3 6

|eo us

5 7T 8 5 6
16 4 8 5



EXERCISE 17. 43

a. Count by 2’s from 1 to 13 and back to 1.

b. Count by 3’s from 1 to 13 and back to 1.

¢. Count by 4’s from 1 to 13 and back to 1.

d. James had 11 rabbits, but he sold 4 of
them. How many rabbits had he left?

e. In a stable were five black cows and seven
red cows. How many cows in all?

/- If a little boy found 8 eggs, and his sister
found 3 more, how many did she find ?

g. A little girl spent 2 cents for candy out of
a dime. How many cents had she left?

k. There were four little nests, with 3 pretty
birds in each nest. How many birds in all?

i jo k. A
13— 3= 18——=3 12+ =13 4+ 7=
13— 6= 13——=10 2+ =13 6+ 7=
13— 8= 18——=6 10+—=13 5+ 6=
13-10= 13— —=7 6+ =13 3+ 4=
13— 4= 18——=8 7+—=13 2+11=
m. n. 0.

1of10= - Llofl2= Add :

T of 10= lof12= 4 5 3 3 3 2
lof 8= lof12= 3 1 3 4 1 7
lof 8= lof12= 2 2 2 4 5 1



44 EXERCISE 18.

2 cents make a two-cent piece.
5 cents make 1 nickel.

2 nickels make 1 dime.

10 cents make 1 dime.

2 five-cent pieces make 1 dime.
5 cents is one half of a dime.

a. It takes 5 two-cent pieces to make a dime.

b. A little boy had 2 five-cent pieces and 3
cents more. He then had — cents.

c. Mary had 2 five-cent pieces, and Edith had
9 cents. Which had the more money ? [ N

d. A little girl had 5 cents and 2 cents in her
purse. How much more would she need to make
a dime? 7 ~

e. Lottie bought a spool of thread for 6 cents
and paid for it with a dime. How much money
had she left? 4

/- How many cents in 1 dime and 2 cents?w.

g. A little boy had a dime in his pocket, and
spent 8 cents. ] How much had he left?

h. A little girl paid half a dime and 1 cent for
some thread. , How many cents did she pay?

<. How many cents in 4 two-cent pieces and
a five-cent piece?

S



SECTION IIL

NUMBERS FROM 1 TO 15.

EXERCISE 1.

Show by drawings or objects the following :

a. b. c. d.
10+ 4= 94+5= 84+6= T+ 7=
44+10= 5+9= 6+8= Tx 2=
14— 4= 14-5= 14—-6= sof14=
14-10- 14—-9= 14—-8= 14— 7=
14+10= 14+-9= 14 -8— 14 7=

e. N2 g
6+6+2= 5+65+4= 44+4+44+2=
6x2+2= S5x2+4= 4x3+2=
14—-6—-6= 14-5-5= 14—4—-4—-4=

14-6= 14+-5= 14+-4=
h. 1.
3+3+4+3+3+2= C 2424242424242=
3x4+2= 2x7=
14-3-3-3-3= 14-2-2-2-2-2-2-2=
14 -3 = 14+-2=

jo 14=8+7 =4+? =947 = 3+? =1147?
=7+? =242 =5+2 =10+? = 6+47?



&

EXERCISE 2.

a 14=124+? =94+? =T+? =44? = 2+?
b. 14= 6+? =3+? =5+7 =8+? =10+7?
c. From 14 take 9; 7; 3; 8; 5; 2.

d. From 14 take 10; 13; 4; 11; 6; 12.

e. S g-
6x2+2= 4x2+4+3= - 10x1+4=
8x1+56= 3x4+2= 12x1+4+2=
TxX240= 6x1+5= 11 x1+2=

EXERCISE 3.

a. In 14 there are — sevens.

b. In 14 there are — twos.

c. In 14 there are — threes and — remainder.
d. In 14 there are — fives and — remainder.
e. In 14 there are — fours and — remainder.
/- In 14 there are — sixes and — remainder.

EXERCISE 4.

Add at sight:

4 3 2 3 1 4 5 6 2 4
2 4 5 4 5 3 3 7 7 8
2 4 4 5 6 6 5 1 5 2
6 5 3 4 2 3 6 9 8 6
3 4 7T 6 8 9 4 2 1 5
4 5 3 4 4 2 4 3 5 3




EXERCISE 5. -

47

a. b. c. d.
4—-5= 10—-6= 12—4= 13-3=
13—-5= 12—-6= 14—-4= 71—3=
11-5= 14—-6= 9—-4= 10—-3=
10—-5= 11-6= 10—4= 8—-3=
8—5= 9—-6= 8—4= 14-3=
12-5= 13—-6= 11-4= 9—3=

e. /- g h.
7+ 7= 6+8= 14-2= Tx—=14
tof 14= 2+9= 13+-3= 6x —=12
14— 7= 5+6= 10+-2= 3x—= 9
14+ 7= 4+7= 11+-5= 8x—= 8
2x T= 3+9= 9+-3= 5x—=10

J- k.

12—-3—-3—-3= 14—4—-4—4= 5twos less 6=
14—2—-2—-2—-2= 12—-2—-2—-2= 3 threes less 2=
- 10—4—4= 10—1-1-1= 2 sevensless 4=
11-2-2-2= 13—4—4= 4 threes less 5=
13—-3—-3—-3= 14-3-3—-3= 4 twos less 7=

100 = O b
(CR SRR
IQOGDF—‘I-P



48 EXERCISE 6.

Put in the missing number:

a. b. c. d.
4+6=1? 14— 6= ? 12+ 3=7? 13-11=?
3+?=10 2x ?=14 6x ?=12 ? —12=2
5x?=10 3x 3= ? 13— 8=7? 14+ 2=7
12-6=? 2+12= ? 9=+ 3=17 11+ 3=?
’x4=12 ?— 8= 6 12-10=? ? — 7=5

e. NA g h.
9+7?=13 3+8= ? ?+7=13 ?-8=6
13—4=? 14-?= 56 14-7= 4 2x7=7?
7+9=14 4x?=12 9+7?=12 12+6=7?
2+7= 7 11-?=6 12+4=? 13-7=?
—8=4 4+7= 17 T-6=7 14+7=2

4. Subtract at sight:

11 13 12 10 12 12 11 14 13 10
2 2 2 3 3 4 4 4 4 5

EXERCISE 7.

How many 2’s in 6? 9? 127 117 13? 14?
How many 3’s in 77 97 11? 12? 13? 14?
‘How many 4’s in 7? 10?7 127 11?7 14? 13?7
How many 5’s in 9?7 8?7 10? 13?7 12? 147
How many 6’s in 12? 10?7 13?7 8? 147 11?

® /O >R




EXERCISE 8. .- a9

Show the following by squares or blocks, as
given on pages 29 and 33.

a. b. c. d.
10+ 5= 9+6= 8+ 7= T+7+1=
15-10= 15-9= 15-8= Tx2+1=
15+-10= 15+-9=  15+8= 15-7-7=

' 15+7=

e. J g
6+6+3= 5+5+5= 44+4+4+3=
6x2+3= 5x 3= 4x3+3=
15-6—-6= 15-5—-5—-5= 15—-4—4—-4=
15+-6= 156+56= 15+-4=
3+3+3+3+3= 2424+2+24+24+2+2+1=
3x5= 15-2-2-2-2-2-2-2=
15-3-3-3-3-3= . 2xT+1=
15+-3= 15+2=

J k. A
Lof 15= 16= Tx?2+1 15+11=
Lof 156= 15=13+7? 156+-12=
s of 156= 15= ?7+4 15+13=

m. n.
156= 8x?7+? — threes are 15
156=10x?2+7? — sevens and — are 15

15= 6x?7+4+7? — fours and — are 15



50 . EXERCISE 9.

a. Three doors and — doors are thirteen doors.
b. Four clocks and — clocks are eleven clocks.
c. Seven hats and — hats are twelve hats.
d. Six cards and — cards are fourteen cards.
e. Eight shoes and — shoes are twelve shoes.
J- Fourteen horses less — horses are seven
horses. :
g. Eleven cups less — cups are four cups.
h. Twelve knives less — knives are five knives.
i. Fourteen lamps less — lamps are three
lamps.

EXERCISE 10.

a. b. c. d.
10+4= 15—-1= 4+8= 15—-10=
10+5= 15-2= T+6= 12— 7=
11+ 8= 15-3=  9+3= 6— 5=
11+4= 15-4=  10+5= 12— 8=
12+ 2= 15-5= 9+4= 15—-11=

e. S g- : h.
12+ 3= 15-14= 3+ 8= 9—6=
13+ 1= 15—-13= 24+ 6= 14—-8=
13+ 2= 15—-12= 10+ 4= 15-3=
4+10= 15—-11= 12+ 3= 14-T7=

5+10= 156-10= 2+13= 10-8=




EXERCISE 11. 61

Add: .
@ b e d e f g h i j
5 2 3 1 3 4 9 4 2 3
3 v 6 7 2 8 1 2 4 2
1 5 2 4 6 2 38 6 1 3
E. . m n o p. ¢ r s U
4 5 2 T 5 1 T 2 T 2
2 3 1 2 3 565 1 3 1 6
T 2 3 1 4 2 4 4 3 4
1 4 4 2 1 1 1 3 3 3

EXERCISE 12.

a. John had three apples, Mary 4 apples, and
Eddie 5 apples. How many apples had they
all? 3 apples and 4 apples and 5 apples are
— apples. They all had — apples.

b. Henry earned 5 cents one day, 6 cents the
next day, and 4 cents the next day. How many
~ cents did he earn? He earned 5 cents and 6
cents and 4 cents. Answer: — cents.

c¢. Ralph paid 15 cents for marbles, and
James spent 6 cents less than Ralph. How
much did James spend? He spent 15 cents
less 6 cents. 15 cents less 6 cents are — cents.



52 EXERCISE 18.

~ a. A little boy had 14 peaches. He ate 7 of
them. He then had — peaches left. 14 —7=—

b. In a garden were 13 trees; ten of them
were apple-trees, the others were plum-trees.
13—-10=— So there were — plum-trees.

c¢. If 15 chairs were in a room, and 9 chairs
were carried out, there would then be — chairs
left. 15—9=—.

d. In a nest there were 12 eggs. 5 of the
eggs were taken out. Then there were — eggs.

EXERCISE 14.

Put in the proper sign in these examples:

a. b. c.
373=9 2?7 6= 8 5?79=14
12?2 3= 9 4?7 2= 8 6?24= 2
15?2 6= 9 5?710=15 12?2 3= 4
476=10 2?7 7T=14 15?73= 5
6?2=12 3?711=14 8?2 7=15

d. e. /
7?756=12 15?7 9= 6 7T?25= 2
3?74=12 77 4=11 9?75=14
872= 4 9? 5= 4 15?2 5= 3
7?72=14 2710=12 15?2 6=10
573=15 8?7 2=16 14 78= 6



a.
16— ?=10
144+ 72=15
6x ?2=12
13-6=7
4x3=7

d.
12—-7?7= 17
?x4=12
2x7=17
10—-9="7?
8+ 7=15

g
16-5=
13-56=
14-56=
12-5=_

14—-4=

BXERCISE 15.

b.
11+ ?7=15
2x6= 17
3+ 7=14
7—8= 6
1+7=15

eé. -
6x2= ?
7—7= 6
3x ?7=12
10—-?2=1
15—-7= 7?

h
11-4=

13—-4=
12-4=

Add at sight:

9 10
4 5 8
4 12 11
8 3

o
|os
o oo

| o
|3 o
’H

ro oo

)

10—-6=
14—-6=
12-6=
15-6=

7
8

loo o

53

2x5= 1
11-7= 7?7
15—-7=9
T+7=14
4x ?7=12

S
6+ ?2=15
2x4= 7?
3x?=9
11-5= 7
12—-7= ?

J-
13-3=
11-3=
14—-3="
12-3=

| &> oo
| o
| o on

[ =
leo oo
loo o



54 EXERCISE 16.

a. Seven days make one week. In 2 weeks
there are 1 days.

b. In one week there were 4 pleasant days
and there were -3 stormy days. (4+?=7.)

c. If school keeps 5 days every week, how
many days are left? (6+7=7.) .

d. In two weeks there were 5 stormy days.
How many pleasant days were there?

e. If a boy picked a dozen boxes of berries,
and sold 8 boxes, how many would he have?

J- Put ; dozen sticks in one pile, ; dozen in
another, 1 dozen in another. How many sticks
in all?

g. Four weeks make one month. In } month
there are — weeks.

h. In three months there are — weeks.
7. In two months and three weeks there are
- — weeks.

j- A little girl was sick 3 months and a half.
How many weeks was she sick?

k. School has kept 3 months and 3 Weeks
How many weeks has it kept?

(. Add:
6 4 3 5 4 2 5 T b
2 5 9 2 3 6 3 2 6
3 02 1 6 4 1 4 1 3
7

T

OO W



EXERCISE 17. - b6

G@ALLON. QUART. PINT. GILL.

In a gallon there are 4 quarts. qt. = quarts.

In a quart there are 2 pints. pt. = pints.

In a pint there are 4 gills. gi. = gills.

In 1 quart there are 2 pints. In 2 quarts-
there are — pints.

- Pt. Pt. Pt.
Pt. Pt. S
1 QUART. 2 QUARTS.

In 3 quarts there are — pints. (Show by
drawing.)

Show by drawing:

How many quarts in 2 gallons.

How many quarts in 1 gallon and 2 quarts.
How many quarts in 2 gallons and 3 quarts.
How many pints in 2 quarts and 1 pint.
How many gills in 2 pints.

How many gills in 3 pints and 2 gills.

How many pints in 1 gallon and 1 quart.



66 . EXERCISH 18.

a. If one gallon, or four quarts, of milk costs
12 cents, a quart will cost — cents. § of 12=7?

b. In two and one-half gallons of milk there
are — quarts.

c. A boy bought 8 quarts of molasses. How
many gallons did he buy?

d. In one quart there are two pints. In 5
quarts there are 5 times 2 pints, or — pints.

e. In one-half a quart there is one-half of two
pints. One-half of two pints is — pint.

J- A girl picked 6 quarts of cherries. How
many pints did she pick?

-

Add:
1+4= 5+6= 3+5= 2+3=
3+4= 2+6= 4+5= 8+3=
9+4= 7T+6= 2+5= 3+3=
2+4= 3+6= 9+5= b+3=
T+4= 6+6= 5+5= 9+3=
k. l. m.
8+7=14 13—8=7? 9+ 5=2?
14-9=7 10-7=7 14+ 2=7?
6+?7=14 ? x2=12 12+ 7=4
14-7=7? ? x4=12 10— 8<=7?
6x2=7 13-?2= 17 14 -11="?



EXERCISE 18. 617

1 inch, 1 inch, 1inch.

4 inch, § inch.
tim fgim| | I | | I

12 inches make 1 foot.
1n. means inch or inches.
ft. means foot or feet.

a. Cut a strip of paper measuring 12 inches
long and 1 inch wide. Mark the inches.

b. Draw a line, as near as you can, 2 inches
long, and then measure the line.

¢. Draw a line, as near as you can, 3 inches
long, and then measure the line.

d. Find, by measuring, how many inches long
and wide your desk is.

e. “Guess” how long and wide this page is.
and then measure to see how near you came
to the correct measure.

S § of a foot is — inches.

g- In 1} feet there are — inches.

k. How many half inches are there in 1 in.?

in 2 in.? in 3 in.?
. 4. Draw a line 1 yard, or 3 ft., long.

Jj- 2 yards are how many feet? 3 yards? 4
yards? yd. means yard or yards.



68 EXERCISE 20.

a. How long and wide is each of these rect
angles ?

a 1 e |

b. 1 ’-\\1\ o “‘\
LT

b. Which of these rectangles are squares?

c. Cut paper of the same size as a, b, and c.

d. Fold a to the size of . Fold ¢ to the size
of a. Fold ¢ to the size of b.

e. @ is how many times as large as 6?2

Jf- ¢ is how many times as large as a ?

g. ¢ is how many times as large as b 2

h. How long and wide is the page of this book?

i. How many inches around ¢ ? around b?
around c¢? '

j- Draw a rectangle 4 in. long and 2 in. wide.

k. In one-half ‘of a foot there is one-half of

12 inches, or — inches.
{. In one-third of a foot there is one-third of
12 inches, or — inches.

m. In one-fourth of a foot there is one-fourth
of 12 inches, or — inches.




SECTION IV,

NUMBERS FROM 1 TO 20.

EXERCISE 1.

LT
“” ‘
il |1
Ml
i >
‘IMI-M},

1 QUART. § PINT.

a. There are — gills in a pint.

b. There are — pints in a quart.
c. There are — quarts in a gallon.
d. In half a pint there are — gills.

e. There are — pint measures full of water
in a quart.

Give full answers to the following questions:

/- How many pints in two quarts?

g- How many half-pint cupfuls of water in
a pint? How many in a quart?

h. At 3 ct. a pt., what cost 1 qt. of milk?

7. At 8 ct. a qt., what cost 1 pt. of milk?

J. How many quart measures full of water
in a gallon?

k. What will 1 qt. of oil cost at 12 ct. a
gallon ?



60 EXERCISE 2.

Show by squares the following:

a. b. c.
10+ 6= 9+ 7= 8+8=
16—6—-6= 16—-7—-T7T= 8x2=
16 -6= 16+7= 16—-8—-8=
16 +-8=
d. e
5+5+5+1= 4+4+44+4=
5x3+1= 4x4=
16—-5—-5—-5= 16—-4—4—-4—-4=
16 +-5= 16+4=
J
3+343+3+3+1=
16-3-3-3-3-3=
16+ 3=
g.
24+2+2+2+2+2+24+2=
 2x8=
16-2-2-2-2-2-2-2-2=
16 +-2=
h. i j. k.
3 of 16= 16+ 3= 16— 14 = 16 +-12=
1of 16= 16 - 9= 16-13= 16 +-14 =
Lof 16= 16+-10= 16—-12= 16+ 15=



EXERCISE 3. 61

a. b. c.
2 twos=? 16-2="? 14+?=16
4 twos=7? 14 -2=2? 124+?2=16
6 twos=? 12—-2=7 10+7=16
5 twos=7? 10—-2=7? 8+?7=16
7 twos=? 8—-2=7° 6+7=16
3 twos=? 6—-2=7 44+?7=16
8 twos=7? 4-2=2 2+?7=16
1 two =? 2—-2=7° 0+?7=16

d. e. /-
16= 4+7? 16— 8=7? 4x4=7?
16= 3+7? 16— 4=2? 3x4="7
16= 247 16— 2=? 2x4="7
16= 5+7? 16— 5=? 3x5="?
" 16= 6+7? 16— 3=? 2x5=7?
16= 8+7? 16— 7=? 2x8=?
16= 9+7? 16 -10="? 8x2=7?
16= 7+7? 16— 9=? 2xT7=?
16=10+7? 16— 8=7? 3x3=?

g h.
4+44+4+?7=16 16-3-3-3-3-3-?=

3—-?7=0
3+3+3+3+3+7=16 16-6-6-56-7=0
6+6+7=16 16-6—-6—-7=0
4—-7=0

7—-7=0

5+56+5+7=16 16-4—-4-
1+7+7=16 16—-7—



62 EXERCISE 4.

Show by drawing:

a. In 1 gallon there are 4 quarts; in 2 gal-
lons there are 2 times 4 quarts. 2 times 4 quarts
are — quarts.

b. In 3 gallons there are — times 4 quarts, or
— quarts.

c. In 4 gallons there are — tlmes 4 quarts, or
— quarts.

d. At 4 cents a quart, 1 gallon of milk will
cost — cents.

e. What will 2 quarts of vinegar cost at 8
cents a quart?

/- A lady bought 2 gallons of molasses. How
many quarts did she buy?

g. In one can there were 8 quarts of milk, and
in another can 4 quarts. How many gallons of
milk were there?

k. Two pails of water each held 2 gallons.
How many quarts in both pails?

¢. A can that holds 3 gallons and 1 quart,
holds — quarts.

j- How many gallons and quarts in 10 quarts?

k. How many quarts in 2 gallons and 2 quarts? .

[. How many gallons in 12 quarts?

m. What will 2 gallons and a quart of milk
cost at 6 cents a quart?



EXERCISE 5. 63
a. b. c. d.
134+ 2= 15-8= Tx2= 10+-2=
11+4= 16 -9 = 6x2= 16 -4 =
13+ 3= 14 —-5= 5x3= 12+-3=
11+56= 13—-38= 4x4= 8+2=
124+ 3= 15—-6= 2x6= 9+3=
13+ 3= 16 - 7= 8Xx 2= 12+-6=
947= 12-8= 2x 7= 14+-2=
8+6= 16 —4= 3x5= 16 -2 =
6+9= 11-7=- 2x 8= 15+3=

e. S

16—-4-2-3-2=7 16-2-8-6="7
16-3-4—-5-1=? 16—-5—-—4—-3=7?
16—-2—-7—-4—-2=7 16-6-5-1=7?

g
Eight nuts and seven nuts are — nuts.
Six oranges and nine oranges are — oranges.
Four potatoes and twelve potatoes are —
potatoes.
Six squares and ten squares are — squares.
Five doors and eleven doors are — doors.
"Seven windows and nine windows are —
windows.
Eight birds and eight birds are — birds.
Eight quarts and five quarts are — quarts.
A



64 EXERCISE 6.

a. A little girl bought 12 pears and had 4
more given her. How many had she in all?

b. What number of cents will there be in two
2-cent pieces, a dime, and a penny ?

c¢. How many legs have four chairs?

d. How many rides have four triangles ?

e. If 2 gallons of milk were spilled out of a
ten-quart pailful, how many quarts would be
left ?

/- A room is 5 yards and 1 foot long. How
many feet long is it?

g. A table is 9 feet long. How many yards
long is it?

k. How many legs have two flies and a bird ?

7. A house has 3 windows behind and 4 times
as many in front. How many windows has it
in both front and back ?

j- How many things must you put with a
dozen to make 167

Add: k.

(b0 W O 00 bO
| b ov e
o co i O on
I = & o ro
leo co = on
o> ro < —
o w0 o o
| = e ro
s o~ oo
feo on o



EXERCISE 17. 66

Put in the proper signs with the following
numbers:

a - b c.
3-8-11 4-9-13 5-8-13
2-4- 6 5-2-10 13-8- 5
5-3-15 6-8-14 6-2-12
9-3- 3 156-3- 5 4-3-12
7-2-14 12-8- 4 7-6-13
9-3- 6 7-2- 5 8-4-12
8-4- 2 8-6- 2 9-5- 4
9-7-16 12-4- 3 6-9-15
5-9-14 9-4-13 3-5-15
16-8- 8 4-4-16 16-4-12

d. e. /
1of 12 = lof.14 = 10f 16 =
sof 9= 1of 12 = sof 156 =
sof 8= 1of12= 1of 16 =
Subtract: g
10 11 10 9 12 11 10 12 13 11
3 4 5 6 3 2 4 5 4 5

16 14 15 14 13 15 16 11 14 16
8 5 8 6 71 9 8 1 8 9



EXERCISE 8.

Show by squares or marks the following:

a. b. c.
10+7= 9+8= 8+6+5=
17-7-7= 17-8—-8= 17-6—-6=
17+7= - 17+8= 17--6=
d. .
5+5+5+2= 44+44+4+4+1=
5x3+4+2= 4x4+1=
17-5-5-56= 17—4—-4—-4—-4=
17+-5= 17+4=
f -
3+3+4+3+34+3+2= 24242+42+424+24+2+2+1=
3x5+2= 2x8+1=
17-8-3-3-3-3= 17-2-2-2-2-2-2-2-2=
17+3= 17+-92=
h. ‘ 1. J-
17=7x?7+3 17=2x7?7+1 17+2=7?
17=3x?7+2 17=5x?7+2 17+-3=?
17T=4x?7+1 17=8x?7+1 17+-4=7?
17=6x?+5 17=9%x7+8 17+-5=7
k. L. m.
17— 6= 4x44+?7=17 8+7=17
17— 7= 3x5+7=117 6+?7=17
17— 8= I9x1+4+2=17 9+7=117
17— 9= 6x2+7=17 T+2=17




Add at sight:

BEXERCISE 9.

9 7 11 12
2 3 2 3
8 6 9 11
4 4 4 ¢
6 8 7T 9
5 5 5 3
8 6 9 10
A S
Subtract at sight:
9 8 10 11
4 4 4 4
8 10 9 .11
5 5 35 5
9 11 10 8
6 6 6 6
8 10 9 12
A S A |
10 8 9 11
8 8 8 8

13

2.

13
4

10

lo
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EX=EER

loo = | 5

14
2

12
4

12

fen

|2 o

13

|

I

15

14

12
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13

leo =

13

o0 e

loo o

> Ot

o & v S

loo & =1 &

A
o on

| o bo

11

| o

loo

14

| s

617



68 EXERCISE 10.

a. How many cents shall I need to make 17
cents, if I have a dime and a five-cent piece ?

b. 17 is how much more than 5? 3? 77 6?
8? 10?7 12?7 147

¢. 17 is how many times 8? 6? 5? 7? 4? 27?
3?2 9?

d. How many wheels have 4 wagons?

e. How many school-days in 3 weeks?

/- How many oranges shall I put with a
dozen to make 177

g- Three little children each found 5 nuts.
How many had they all?

k. How many legs have 2 boys and 3 dogs?

7. A girl had one dozen eggs, and she sold 2
of them. How many did she sell?

J.- 4 persons are rldmg horseback, and twice
as many are riding in a wagon. How many
in all?

k. There are 8 eggs in one basket, and 1
many in another. How many in both?

[. 17 quarts are how many quarts more than
4 gallons?

m. 17 pints are how many quarts?

n. 17 gills are how many pints and gills?
how many quarts and gills?

0. In 2 gallons and 1 pint how many pints?



EXERCISE 11. 69

a. Four gills make one pint. In ] pint there
are — gills.

b. In 1 quart or 2 pints there are — gills.

c. In 1} pints there are — gills.

d. In 3] pints there are — gills.

e. At 4 cents for every gill of cream, a pint
will cost — cents.

/. There are — quarts in 1 gallon. In 2}

gallons there are — quarts.
g. In 3} gallons there are — quarts.
k. There are — gallons in 12 quarts.
7. In 1 gallon there are — pints.

J- In 1} gallons there are how many pints?

k. At one cent a gill, a quart will cost. —
cents, and a quart and a pint will cost — cents.

I. A little boy spilled 2 quarts of milk. He
still had a gallon left. He must have had —
quarts at first.

m. Seven days make one week. There are —
weeks in 14 days.

n. There are — weeks and — days in 17 days.

o. In one week there were four pleasant days.
The other — days were not pleasant.

p- A man worked every week-day for 2 weeks
at one dollar a day. How many dollars did he
earn?



70 EXERCISE 12.

Show by squares or marks the following:

a. b. c. d.
94+9= 8+8+2= T+T7+4= 6+6+6=
Ix2= 8x2+42= Tx2+4= 6 x3=

18—9-9= 18-8-8= 18—7—-7= 18—6—6—6=
18+9= 18+8= 18=7= 18+6=
e. /I
5+5+5+3= 4+44+4+4+2=
5x3+3= 4x4+2=
15-5-5-5= 18-4—4—4—4=
15+5= 18+4=
. g, X
3+3+3+3+3+3=
3x6=
18-3-3-3-3-3-3=
18 =~ 3 =
h.
24+24+24+2+2+2+2+2+2=
2x9=
18-2-2-2-2-2-2-2-2-2=
18+2=

1.
Compare 18 with 17; with 16; with 15;- with
14; with 13; with 12; with 11; with 10; with
9; with 8; with 7; with 6; with 5; with 4.



4+=718
6+?=18
9+7=18
7+?7=18
8+7=18
2+?7=18
5+7=18
3+7=18

Add:

1SS Ov W
|~ 0 o

1SS W O
JEQNP

How many

/-
3sin 187
8sin 187
6’sin 187

10’s in 187

| = © N

ICQU!O&

v co

los oo W

b

10+?=18
12+7=18

14+?=18
16 +?=18
11+?=18
13+7=18
15+7=18
17+7=18

d.

l@l\?m
| o o

I o0 oo
len en o

g-

2’s in 187
4’s in 187
7’s in 18?
11’s in 187

EXERCISE 13.

oo bo =

les ~ oo

o oo

I@QON

71
c.
18— 6=?
18—-12=7
18- 3=?
18-16="?
18-10="?
18— 8=7?
18— 7=7?
18— 9=?
4 3
2 9
8 5
7 4
5 4
6 9
h.
9sin 187
5sin 187
10’s in 187

12’s in 187
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a.
4+4=7
3+4=?
T+4=?
9+4=?

12+ 4=
- 5+5="?
9+6="?
2+565=7
3+56=7
12+ 5=2?

d.
18—4=7
17-4=7
16 -4=7?
15—-4=2?
14 -4=7?
10-5=7?
16-5=7
18-5=7
17-6=7?
14-56=7

EXERCISE 14.

b
3+6=2
T+6=?
9+6=2
5+6=2
10+ 6=2
6+17=?
2+7=?
5+7=2
8+7=2
10+7=?

e.
12-6=7?
18—-6=7
14-6=7
17—-6=7
13—-6="?
183-7=2?
12-7=7?
11-7=?
10-7=7?
18—-7=7

c.
7+8=1?
6+8=7
4+8=7
10+8=7
8+8=7?
2+9=7
9+9="7
6+9=7
8+9=7
4+9=7?
VA
12—-8=7?
13-8=7?
15—-8=7?
11-8=7?
18-8=7?
15—-9=7
11-9=7?
16 -9=7
10-9=7
18—-9=7?

g. Count forward and backward by 2’s to 18.
h. Count forward and backward by 3’s to 18.
. Count forward and backward by 6’s to 18.
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EXERCISE 15. 73

5 8,6, 3,9 2 4,1, 7, 10.

Add 2 to each number. Jo Add 7.
Add 3 to each number. . 9. Add 8.
Add 4 to each number. h. Add 9.
Add 5 to each number. 7. Add 10.

Add 6 to each number.

8 2, 6,4 9 3 7 5, 11, 10.

J- Subtract 2 from each number.

k. Subtract 3 from each number if possible.
[. Subtract 4 from each number if possible.

m. Subtract 5 from each number if possible.
n. Subtract 6 from each number if possible

Add.
5 4 3 7 3 5 3 8 4 3
6 7 9 5 2 6 4 2 5 6
3 2 4 6 8 6 9 6 8 7
Subtract

po 156 17 16 14 12 13 18 15 17 18

-8 -5 -8 -7 —-4-10 -6 -4 —6

¢ 12 15 14 18 16 17 12 13 14 18
~9-11 -9 -8 -4 -9 -8 —4 —6 —9

r.

4+8-3+5-6+56-7+9-8=7?



14 EXERCISE 16.

a. A little boy bought 6 pears at 3 cents
apiece. How much did they cost?

b. Henry put 18 nuts on a fence. A squirrel
carried off eight of them. How many nuts were
left ?

c¢. How many days in 2 weeks and 3 days?

d. A man sold a chair for 18 dollars, which
was four dollars more than it cost. How much
did it cost?

e. A lady divided 18 cookies equally among
6 little children. How many cookies did each
one receive ?

/- How many inches in a foot and a half?

¢9- A man made a ruler 18 inches long. A
half foot was broken off. How long was the
ruler then ? .

k. How many eggs in a dozen and a half?

1. What would 9 sleds cost at 2 dollars each ?

Jj- If 1 pint of milk costs 2 cents, what will
1 gallon of milk cost? '

k. How many cents in a dime and a five-
cent piece and three pennies ?

[. A little girl picked 18 chestnuts, and gave
1 of them away. How many had she left?

m. How many triangles can you make with
18 splints?




EXERCISE 17. 75

Show by squares or marks the following:

a. ) b. : c.
10+ 9= 9+9+1= 8+8+3=
19-10= Ix2+1= 8x2+3=
19+-10= 19-9-9= 19-8—-8=
19+-9= 19+-8=
d. e. /
T+74+5= 6+6+6+1= 5+5+5+4=
TX2+5= 6x3+1= 5x3+4=
19-7-7= 19-6—-6—-6= 19-5-5—-5=
19+7= 19+-6= 19+-5=
g- h.
44+44+4+4+44+3= 3+3+3+3+3+3+1=
4x4+3= 3x6+1=
19—-4—-4—-4—-4= 19-3-3-3-3-3-3=
19+-4= - 19+-38=

2. 19 is — more than 10.
J- 10 is — less than 19.
k. 10 is contained in 19 — time and — over.
{. In the same way compare 19 with 11, 12
13, 14, 15, 16, 17, 18.
m. There are — 9’s and — remainder in 19.
n. How many 8's in 19? 7’s? 6’s? 5's? 4's?
3’s? 2's?
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a.
2 eights =

3 sixes =7
4 fours =?
3 twos =7
2 nines =7
4 threes =7
3 fives =7
9 twos =?
2 sevens =?
6 threes =?

c.
18+?7=19
16 +?=19
12+?7=19
17+7=19
14+?7=19

f
15+2=19
10+?2=19
8+7=19
9+?7=19
13+7=19

EXERCISE 18.

b

In 18 there are ? threes.
In 16 there are ? fours.
In 12 there are ? twos.
In 15 there are ? fives.
In 16 there are ? eights
In 18 there are ? nines.
In 14 there are ? twos.
In 12 there are ? threes.
In 14 there are ? sevens.
In 15 there are ? threes.

d.
19-7=10
19-?7=12
19-?2= 7
19-7= 9
19-?7= 6

g.
19-7=15
19-7=13
19-?=16
19-7=18
19-?=11

e.
2+3+4+7=19
6+2+3+2=19
4+7+6+2=19
5+24+7+7=19
5+3+2+7=19

h.
6+3+7+7=19
5+4+2+7=19
2+6+8+7=19
T+7+3+7=19
4+4+2+7=19

i 5+7-8+7+8-6-56+9—-6=?



EXERCISE 19.

T

a. 9 twos and ? =19. J-19-9=
b. 6 threes and ? = 19. k. 19 -8=
c. 4 fours and ? = 19. . 19-7=
d. 3 fives and?=19. m. 19 — 6=
e. 3 sixes and ? =19. n 19— 5=
/. 2 sevensand ? = 19. 0. 19 -4=
9. 2 eights and ? = 19. p. 19-3=
h. 2 nines and ? = 19. qg- 19 -2=
7. 1ten and?=19. r. 19-1=
Fill in the missing number:

s. A u.
3+?7=12 9x?=18 6+-3= 7
Tx2="7 18—-6=7? 16+?7= 5
8+6=7 15-7=9 12+-3= 7
?x4=16 12+-3=17? 9+8= 7
19-7=7 16+-2= 7 1x6=18

v. w. x.
5x ?7=15 14+ 7= 17 ?x 4= 8
12— 8=7 18— 7= ? 3+11= ?
4+11="7 ?x 3=18 19— 7 =10
Tx ?7=14 4+ ?7=16 19— 6= 7?
15— 6=7 12-11= ? 4+15= ?

y. 19 +2=— times and — remainder.

z. Divide 19 by 3; by 4; by 7; by 8; by 9;

by 12; by 11; by 10.



78 EXERCISE 20.

Show by squares or lines the following:

a. b. . c.

" 10+10= 9+9+2= 8+8+4=
2 tens = Ix2+4+2= 8x2+4=
20—-10= 20—9-9= 20—-8—-8=
20+-10= 20+-9= 20-8=

d. e. J
T+74+6= 6+6+6+2= 5+56+5+56=
Tx2+4+6= 6x3+2= 5x4=
20—-7T—-7= 20—-6—-6—-6= 20-5—-5—-5=

20+7= 20+-6= 20+-5=

g- h.
4+4+4+44+4= 3+3+3+3+3+3+2=
4x5= 3x6+2=
20-4-4—-4-4—-4= 20-3-3—-3—-3—-3-3=
20+-4= 20-3=

..
2+2+2+2+2+2+2+24+24+2=

2x10=
20-2-2-2-2-2-2-2-2-2-2=
' 20 +-2=
J- k.
11x1+7?7=20 16 x1+?2=20

13x1+?7=20 18 x1+7=20



EXERCISE 21. 79

a. Compare 20 with each number below 20,

thus: 20 is — more than 19.
20 is — more than 18, etc.

b. 19 is contained in 20 — time and — over.
c. 17 is contained in 20 -— time and — over.
d. 15 is contained in 20 — time and — over.
e. 12 is contained in 20 — time and — over.
/. 10 is contained in 20 — times and — over.
g. 8 is contained in 20 — times and — over.
h. 6 is contained in 20 — times and — over.
7. 4 is contained in 20 — times and — over.
J- 7 1is contained in 20 — times and — over.
k. 5 is contained in 20 — times and — over.
[. 3 1is contained in 20 — times and — over.
m. 2 18 contained in 20 — times and — over.

n. Count by twos up to 20.
— twos are 20.

Count by threes up to 18.
— threes and — are 20.
Count by fours up to 20.
— fours are 20. °
Count by fives up to 20.
— fives are 20.

Count by sixes up to 18.

— gixes and — are 20.
A

§ 2 8 v 3 9
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EXERCISE 22.

Put in the number to make 20 wherever the

*— 0 NS

20

than
than
than
than
than
than
than
than

10.
12.
16.

9.
15.
13.
11.

14

B
o,*wﬁw»*‘

[\V]
OI#O»P-C»;—«.@-
wl
Sl * o O oS

6, 12, 20, 16, 18 by 4.

w.
of 18=
of 20=
of 12=

“gtar”’ 1s:
a. b ¢ d e f
6 5 3 7 2 6
4 3 9 3 7 1
2 4 2 4 1 3
3 2 4 2 7T 4
* * * * * *
20 20 20 20 20 20
k. 20 is ? more
I. 20 is ? more
m. 20 is ? more
~ n. 20 is ? more
o. 20 is ? more
p- 20 is ? more
g- 20 is ? more
r. 20 is ? more
s. Divide 8, 4,
¢t. Divide 9, 3, 12, 15, 7, 18, 20 by 3.
u. v.
of 10= 1 of 14=
of 12= 1 of 16=
of 6= 3of 9=
of 3= 3 of 16=

00 1= (01— N I= N~

00— Wi= NI N[

of 18=



EXERCISE 23. 81

Copy carefully :

One 1 1 Eleven 11 XI
Two 2 11 Twelve 12 XII
Three 3 IT1 Thirteen 13 XIII
Four 4 1V Fourteen 14 XIV
Five 5 v Fifteen 15 XV
Six 6 V1 Sixteen 16 XVl
Seven 7 VII Seventeen 17 XVII
Eight 8 VIII Eighteen 18 XVIII
Nine 9 IX Nineteen 19 XIX
Ten 10 X Twenty 20 XX

Read the following, and write in figures:

IT, II1, VvV, VI, VII, VIII, X, XI, XIII, XV,
XVI, XVII, XVIIL

Vv, IV, V], X, IX, XI, XV, XIV, XVI, XX,
XIX.

VIII, VI, IX, XVI, XIX, XI, XIII, IV, XVII,
X1V, XII, XVIII, VIII, XX.

Write in Roman notation:

1, 3, 5, 6, 8 10, 12, 13, 15, 16, 11, 2, 17,
18, 20, 7. .

5 4, 6, 8,9, 3, 7, 10, 2, 15, 14, 16, 11, 18,
20, 19, 12, 17, 13.

9, 4, 14, 19, 13, 16, 11, 8, 13, 17, 12, 18.



82 EXERCISE 24.

Which is the larger, and how much?

a. 4x5 or 3x 67

b. 2x8 or 3x 57

c. Tx2 or 4x 4?

d 8x2 or 3x 47

ee. 5X3 or 2x107?

fo2x9 or 6x 37

g. From 20 take 4, five times.
are left?

k. From 18 take 3, five times.
are left?

2. From 20 take 9, two times.
are left?

j. From 18 take 4, three times.
are left?

k. Compare ; of 20 with 3

[. Compare ; of 16 with }

m. Compare 1 of 15 with

n. Compare ; of 18 with

How many
How many
How many

How many

of 18.
of 12.
of 20.
of 12.

o. Harry had 18 marbles, and Willie had } as
many. Harry had — more marbles than Willie.
p. If James finds in a nest 2 eggs every day,
he will have in a week how many eggs more

than a dozen?



EXERCISE 26. 83

a. b.

1 gallon = — quarts. 1 foot = — inches.
1 quart = — pints. 1 month = — weeks.
1 pint = — gills. 1 week = — days.
c. d.

2 gallons = — quarts. 8 gills = — pints.
21 quarts = — pints. 12 gills = — pints.
21 pints = — gills. 16 gills = — quarts.
16 quarts = — gallons. 10 gills = — pints.
10 quarts = — gallons. 10 gills = — quarts.

e. Twenty cents are the same as — five-cent
pieces.

J- Twenty cents are the same as — two-cent
pieces.

g. Eighteen cents equal — nickels and —
pennies.

h. Sixteen cents equal — dime and —.

7. A dime and two nickels make — cents.

J- A dime, a nickel, and two pennies make
— cents.

k. A dozen and a half eggs are — eggs.

. A dozen and one-fourth eggs are — eggs.

m. 1 can buy — two-cent postage stamps for
twenty cents.



84 EXHERCISE 26.

a. A pansy has 5 petals. How many petals
have three pansies?

b. I buy 6 two-cent postage stamps and 5
sheets of paper at one cent a sheet. How
much must I pay for all?

" ¢. How many two-cent postage stamps can I
buy for 8 cents? '

0 olojolo

d. How many two-cent postage stamps can I
buy for 12 cents? for 18 cents?

e. If 1 can get 3 pencils for 2 cents, I can
get — pencils for 4 cents.

oo o O (e] 0
|11 NN
S If 2 pencils cost 3 cents, what will 6
pencils cost? (Make marks for pencils and
circles for cents.) ,
¢9. How many lamps at 2 dollars each can I
buy for 18 dollars? (Illustrate.)
k. 1 pay a cent for 3 little flags. How many
flags can I get for 6 cents?  (Illustrate.)
1. If half a dozen apples cost 5 cents, what
must 1 pay for 18 apples? (Illustrate.)



EXERCISE 27. 856

a. How many times does the sun rise in two
weeks ?

b. Little Elsie is 6 years old, and her sister
is 3 times as old. What is the sister’s age?

c. If it takes 6 yards of cloth for a dress,
how many dresses can you make from 18 yards?

d. John’s mother gave him a paint-box, with
- 3 rows of paints in it, 6 in a row. How many
paints did he have?

e. If you drink 1 pint of milk every day for
2 weeks, how many pints will you drink?
How many quarts?

/- A man bought 2 gallons of molasses, and
the next day 2 quarts. How many quarts
did he have then? _

g. It takes 8 shoes for an ox. How many
will it take for 2 oxen?

h. A little girl wrote 20 words on her slate.
All but 6 were right. How many were right?

<. Mary picked 20 roses and put them equally
in 4 bunches. How many in each bunch?

J. Willie bought 10 marbles at 2 cents apiece.
He paid for them with 2 dimes. How much
had he left? '

k. What will two quarts and a pint of milk
cost at 6 cents a quart?



86 EXERCISE 28.

a. Henry made 4 soldier-caps and Lizzie 8.
How many together?

b. 10 little birds were sitting on the fence.
How many little feet were to be seen?

c. If you have a dozen buttons and 3 more
on your sack, how many will you have?

d. In a big room are 4 windows, and 4 panes
in every window. How many panes in all?

e. 3 pretty doves, 4 white rabbits, 6 hens,
and 2 kittens are out in the yard together.
How many animals?

/. In a stable were 12 horses. All were driven
in spans. How many spans were there?

9. 12 little rubbers stood in a row. To how
many children did they belong?

h. How many pairs of boots are 18 boots?

<. How many feet have 2 cats and a kitten?

J- 20 peaches were on the table, and they
were divided equally among 5 people. How
many peaches could each one have?

k. How many legs have 3 house-flies?

[. How many wings have three spiders and
3 house-flies. '

m. A wasp has a pair of large wings and a
pair of small wings. How many wings have 3
wasps? How many large wings have 9 wasps?
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WENTWORTH-SMITH MATHEMATICAL SERIES

WORK AND PLAY WITH
NUMBERS

By GEORGE WENTWORTH and DAVID EUGENE SMITH

12mo, cloth, 144 pages, illustrated in color, 35 cents

HIS is a number primer written along new lines, present-

ing simple number work for the first two years of school.

Nursery rimes and attractive illustrations in color are made the
basis of much of the teaching.

The book is designed to take advantage of the child’s natural
taste for number work, and to keep alive the interest which a
formal textbook in arithmetic would quickly destroy. The
method is therefore informal, the simpler number relations of
addition, subtraction, and multiplication being set forth in such
a manner as to appeal to the child.

The illustrations, which depict the things best liked by children
and which thus relate the text to the child’s interest are a dis-
tinctive feature of the book. The print is large and easy to read
and the numbers appear in script as well as in print.

The authors, George Wentworth and David Eugene Smith,
are among the foremost mathematicians and writers of mathe-
matical textbooks to-day. The Wentworth-Smith Arithmetics are
standards, and this number primer shows the same insight and
the same adherence to pedagogical principles that have made
the earlier books famous.
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THE NORMAL CHILD AND
PRIMARY EDUCATION

By ArNoLp L. GeseLr, Ph.D., Assistant Professor of Education, Yale University, and
BeATRICE CHANDLER GEsELL, Ed.B., Formerly Primary Training
Teacher in Los Angeles State Normal School

8vo, cloth, x + 342 pages, illustrated, $1.25 ~

HIS comprehensive, nontechnical survey of the field of

primary education will be of interest to the general reader
as well as to the teacher and the normal-school student. The
discussion includes both theory and practice, emphasizing the
scientific basis of pedagogical method.

The earlier chapters treat the historical and the genetic back-
grounds of education, taking up such subjects as Humanitarian-
ism and the Child, The Scientific Interpretation of Life, The
Biological Perspective, The Primitive Ancestry of the Child,
and The Hand of the Race and of the Child. The chapters of
Parts III and IV discuss in detail primary-school methods
of pedagogy. The appendix contains a critical exposition of the
Montessori system of primary education. The treatment is
specific with reference to the practical problems, broad and sug-
gestive with reference to the large themes which serve as a
background philosophy for the pedagogy, and concrete always.
The text is enriched by copious and attractive illustrations.

The authors believe that * the ordiﬁary primary child is far
below his possibilities,” and *“ The Normal Child and Primary
Education ”’ aims to elevate and to correct the prevailingly low
and vague standards of normality.
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COURSES OF STUDIES
AND METHODS OF TEACHING

A HANDBOOK FOR TEACHERS
By JOHN T. PRINCE

12mo, cloth, 344 pages, 75 cents

HIS is a brief plan of studies for elementary schools,
and a simple and direct statement of good methods
of organization, teaching, and discipline.

Although the hints and suggestions are directed mainly
to untrained and inexperienced teachers, it is hoped that
they may commend themselves to the judgment of the
best teachers, as based upon correct principlesof teaching.

The folldwing outline of the contents indicates the
scope of the book.

I. Courses of Study
I1. Methods of Teaching

Writing Observation Lessons
Spelling Information Lessons
Language Drawing

Grammar Singing

Arithmetic Memory Lessons
Geography Busy Work

History Physical Exercises

Physiology and Hygiene
II1. Organization, Moral Training, and Government
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ARITHMETIC BY GRADES
By JOHN T. PRINCE

For Inductive Teaching, Drilling, and Testing

EIGHT BoOks. 12mo, cloth, from 86 to 118 pages each, 20 cents.
ELEMENTARY ARITHMETIC. Consisting of Books III and IV. 12mo, cloth,
212 pages, 35 cents.
GRAMMAR SCHOOL ARITHMETIC. Consisting of Books V, VI,and VII. 12mo,
cloth, 282 pages, 55 cents.
TEACHERS’ MANUAL. For teachers using *Arithmetic by Grades.” 12mo, cloth,
225 pages, 8o cents.
Part 1. Cloth, pages 1-81, 35 cents.
Part II. Cloth, pages 82-225, 50 cents.

THE following synopsis of the contents of the various books
of this series may be of service to those who wish to order only
such books as are best adapted to certain grades.

Book I. Numbers from 1 to 2o0.

Book II. Numbers from 1 to 100.

Book III. Integers to 1,000,000, Fractional Parts of Numbers, United States
Money, Weights and Measures, Measurements.

Book 1IV. Whole Numbers Unlimited, Common Fractions to Twelfths, Deci-
mal Fractions to Thousandths, Measurements, Business Transactions, Denomi-
nate Numbers. X

Book V. Common and Decimal Fractions, Mensuration, Denominate Num-
bers, Business Transactions.

Book VI. Mensuration, Denominate Numbers, Metric System, Percentage
and Simple Applications, Business Transactions and Accounts.

Book VII. Profit and Loss, Commission, Insurance, Taxes, Duties, Interest,
Banking, Stocks and Bonds, Exchange, Business Accounts, Geometrical Exer-
cises, Ratio and Proportion.

Book VIII. Miscellaneous Questions involving the Making of Definitions,
Rules, and Formulas, Algebraic Exercises, Involution and Evolution, Exercises
in Geometry and Mensuration, Bookkeeping, Miscellaneous Reviews.
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